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Question 1 :( 3-Points):  

Consider the following frequency table, which represents the marks of 20 students in one of their exams:

	Interval
	Frequency
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	5----9
	3
	7
	21
	49
	147

	10---14
	4
	12
	48
	144
	576

	15---19
	6
	17
	102
	289
	1734

	20---24
	5
	22
	110
	484
	2420

	25---29
	2
	27
	54
	729
	1458

	Total
	20
	
	335
	
	6335


Find the standard deviation for the marks.
Solution:
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________________________________________________________________________

Question 2 (2-Points)

Find the mode and the median of the following observations:

23,25,17,23,18,19,26,23,18,20

Solution:
Order the observations to get:

17,18,18,19,20,23,23,23,25,26             
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Question 3(5-Points)

A fair die and fair coin are tossed. Let 
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 be the sum of heads and the number of dots that shows, determine:
a. The distribution for the random variable 
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b. 
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Solution:

a. The sample space for the experiment is:
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: 
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Similarly, 
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 and 
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So, the distribution for 
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is:
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